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[ PART A:cahulary

| Directions: Choose the word or phrase (1), (2), (3), or (4) that.best completes |
| each sentence. Then mark the correct choice on your answer sheet.

;l:) What was intended as a peaceful demonstration rapidly -------—=into violence.

1) agitated 2) degenerated 3) preceded 4) diseriminated
2-  The Democratic Party —————--- T0 percent of the vote.

1) garnered 2) esteemed 3} obligated 4) assembled
3- Some animals can ——-—-- very high temperatures.

1) detach 2) submit 3) obstruct 4) withstand
4-  Researchers have discovered that up to one half of all children born of alcoholics are

genetically ~-—-—-— to alcoholism.

1} discerned 2) apprehended 3) predisposed 4) impressed
5- Communication via the Internet gives an important ----—--- to international trade.

1) dimension 2) exposure 3) expenditure 4) distribution
6- Lack of childcare facilities can be a major -——— for women wishing to work.

1) dispute 2) routine 3) obstacle 4) contraction
7- Itis a common -- -- that women are worse drivers than men.

1) essence 2) impetus 3) fallacy 4) amusement
8- The --—------ for using this teaching method is to encourage student confidence.

1) advent 2) rationale 3) authenticity 4) constitution
9-  The degree of punishment should be -—--—-- to the seriousness of the crime,

1) inclined 2) receptive 3) prominent 4) proportional
10- Low inflation is the key to -———-—--- economic growth.

1) sustained 2) congruous 3) extravagant 4) well-disposed

(4) best fits each space. Then mark the correct choice on your answer sheet.

= e S

Commonwealth of Nations s an international organization composed of independent states,
all of which were part of the British Empire. It was constituted by the Statute of Westminster,
(11) —-mmeme the British Deminions were recognized as ‘autonomous communities’, (12) ==-----
the British Crown. Since 1947, when India chose (13) --—--—---- within the Commonwealth, 1t
has consisted of an mereéasing number of republics, so that the role of the British monarch, who
is the head of only seventeen (14) --—---—----- a total of fifty-three member states, is confined
{15) -----—-— head of the Commonwealth. Given that its member states have little in common
apart from a historical tie to the UK, it has rarely been able to influence world affairs, except
perhaps for its leadership on the international imposition of sanctions upon South Africa.

11- 1)so 2) which 3) so that 4% in which
12- 1) binding together 2) bound together by
3) together having bound 4) having bound together
13- 1) to remain 2)remaining 3) for remaining 4) to be remained
14- 1) by 2) out of 3) within 4) outside

15- 1) for 2) to'who is 3) to that of 4) that she is
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[PART C: Reag Cprehensinn

Directions: Read the following three passages and answer the questions by choosing
the best choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. |

Passage I:

There are generally said to be five main reasons why accident prevention in
construction is worthwhile.

The cost in human suffering, physical pain and hardship resulting from
death” and disability is impossible to quantify -we know that there are
hundreds of fives lost each year in construction and related industries, with
tens of thousands of serious injuries and countless numbers of more minor
injuries. We can only guess at the disruption to lives of workers and their
families which these cause, but we know that construction safety is not an
impossible dream:; it is an achievable goal.

16- According to the text, the sentence “There are generally said to be five main reasons why
accident prevention in construction is worthwhile.” here means that
1) five main reasons generally prevent accidents from occurring in construction
2) there are other reasons we should observe when coneerned with accident preventions in
construction,
3) accident prevention in construction is generally based on these five main reasons.
4) considering those five basic reasons in the prevention of accident in construction is
advantageous.
17- From the second paragraph, it can be understood that ————-—--.
1) the physical pains and hardships are kinds of countless numbers of major and minor
INjuries
2) we're generally able to suffer physical pain and hardship that result from death and
disability
3) we are capable of recording the impossible deaths and disabilities causing physical pain
and hardship
4) we are incapable of mathematically expressing physical pain and hardship resulting from
death and disability
18- According to the text, the phrase “the disruption to lives of workers and their families”
here means -
1) the inconveniences existing in their lives
2) the disturbance of workers and their families
3) the disorder the workers and their families suffer in life
4) the hardship the workers and their families face in their lives
19-  According to the text, the sentence “but we know that construction is not an impossible
dream; it is an achievable goal.” means that construction safety is possible and / or :
1 }.¢an be accomplished 2) a dream and unavailable
3) a dream to go through 4) can be a strategy of ours

20- The best title for this text is
1) Construction Safety 2) Benefits of accident prevention
3) Aceident Prevention in Construction 4) Five main procedures of accident prevention
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Passage 11:

Accident investigation

Whenever an accident occurs that results in an injury (medical case),
damage of equipment and material, or both, prompt accident
investigation by the immediate manager is required. A written
preliminary investigation will be completed by the end of the particular
shift or business day on which the accident occurred.

In no event should there be a delay of more than 24 hours. Failure to
comply with this requirement may subject the immediate manager to
disciplinary action up to and including discharge.

Without adequate accident investigation data the Company may be
subjected to costs, claims, and legal action for which ithas no defence.

As a minimum, the preliminary accident investigation report will
include the following:

Name, occupation, and sex of injured worker.

Place and date/ time of accident.

Description of how the accident happened.

Immediate causes of the accident - unsafe acts and unsafe
conditions.

Contributing causes - manager safety performance, level of worker
training, inadequate job procedure, poor protective maintenance, etc.
6 Witness{es) - name and department.

7  Corrective action taken — when.

= L b o=

wn

Tae employee who was injured and any employee(s) who witnessed the
incident should be separately interviewed as soon as possible. A copy of
the report must be submitted to the Manager - Human Resources for
review. Another copy of the report is to be retained for a period of not
less than the injured employee’s length of employment plus five (5)
years,

21-  The first investigation report should be prepared by ==,

1) the employee 2) the safety advisor
3) the company. manager 4) the immediate manager
22-  We understand from the passage that the immediate manger may be discharged if he does
not .
1) report the accident 2) comply with the accident
3) investigate the cause of the accident 4) take the injured employee to the hospital
23-  In the passage, “discharge” is considered as a kind of -—
1) failure 2) requirement
3).disciplinary action 4) protective procedure
24- 'We understand from the text that the interviewees after the accident are ————-,
1) the witness(es) only 2) the injured employee
3) the immediate manager 4) the injured employee and witness(es)

25-  According to the passage, a copy of the accident investigation report should be kept —-,
1) for a length of time which is longer than the injured employee’s employment
2) for as long as the injured employee is employed
3) in the injured employee’s file
4) for five years only
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Passage I1I:

Corrosion

A major consideration in engineering design is maintenance. One ofF the
commonest causes of failure in the long term is corrosion.

Corrosion is the primary mecans by which metals deteniorate. Most
melals corrode on contact with water (and moisture in the air), acids, bases.
salts. oils, aggressive metal polishes, and other solid and liquid chemicals.
Metals will also corrode when exposed 1o gaseous materials like acid vapors,
formaldehyde gas, ammonia gas, and sulfur containing gases.

Corrosion specifically refers 1o any process involving deterioration or
degradation of metal components. The best known case is that of the rusting
of steel. Corrosion processes are usually electrochemical in nature. having
the essential features of a battery. When metal atoms are exposed to an
environment containing water molecules they can give up electrons,
becoming themselves positively charged ions. provided an eleetrical circuit
can be completed. This effect can be concentrated locally to form a pit or,
sometimes, a crack, or it can extend across a wide area to produce general
wastage. Localized corrosion that leads to pitting may provide sites for
fatigue initiation and, additionally, corrosive agents like seawater may lead to
greatly enhanced growth of the fatigue crack. Pilting corrosion also occurs
much faster in areas where micro structural changes have occurred due to
welding operations.

According to the text, the sentence “A major consideration in engineering design is
maintenance,” here means ----—--—-—-,

1) Engineering design is of significant consideration

2) Maintenance in engineering design is generally considered

3) Maintenance overrides other considerations in engineering design

4) consideration of maintenance is of some importance

According to the text, the phrase “in contact with” means —-------- ;

1) when meeting 2) when converging  3) when intervening  4) when soldering
According to the text, the sentence “Metals will also corrode, when exposed to gaseous
materials like acid vapors.,” means metals will corrode when they’'re --———- against
easeous materials like acid vapors.

1) displayed 2) unprotected 3) exposed 4) encountered
According to the text, the word “they” here refers to :

1) essential features 2) water molecules

3) metal atoms 4) positively charged ions

The underlined word “concentrated™ here means ———,
1) garnered 2) condensed 3) constricted 4) cumulated
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